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Chapter 4

Describing Data: Displaying and Exploring Data

1.
a.
Dot plot


b.
15


c.
7 and 1, respectively


d.
2 and 3
(LO 1)
2.
a.
19 and 4, respectively


b.
12 (LO 1)
3.
Median = 53 found by (11 + 1)(1/2) therefore 6th value in from lowest.


Q1 = 49 found by (11 + 1)(1/4) therefore 3rd value in from lowest


Q3 = 55 found by (11 + 1)(3/4) therefore 9th value in from lowest (LO 3)
4.
Median = 9.53, found by (9.45 + 9.61)/2

Q1 = 7.69 found by 7.59 + (7.99 – 7.59) ¼

Q3 = 12.59 found by 12.22 + (12.71 – 12.22)3/4 (LO 3)
5.
a.
Q1 = 33.25
Q3 = 50.25


b.
D2 = 27.8
D8 = 52.6

c.
P67 = 47 (LO 3)
6.
a.
Median = 58


b.
Q1 = 51.25
Q3 = 66.0


c.
D1 = 45.3
D9 = 76.4


d.
P33 = 53.53 (LO 3)
7.
a.
350


b.
Q1 = 175
Q3 = 930


c.
755, found by 930 – 175


d.
Less than zero, or more than about 2060


e.
There are no outliers


f.
The distribution is positively skewed (LO 4)
8.
a.
450


b.
Q1 = 300
Q3 = 700


c.
400, found by 700 – 300


d.
Less than zero or more than 1300


e.
One outlier at about 1500


f.
Distribution is positively skewed (LO 4)
9.
The distribution is somewhat positively skewed. Note that dashed line above 35 is longer than below 18. (LO 4)


[image: image1.wmf]5

0

4

0

3

0

2

0

1

0

C

1

G

a

s

o

l

i

n

e

 

m

i

l

e

a

g

e


10.
The median is $253. About 25% of the semi-private rooms are less than $214 and 25% above $304. The distribution is negatively skewed. (LO 4)
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11.
a.
The mean is 30.8, found by 154/5. The median is 31.0 and the standard deviation is 3.96, 

found as
[image: image3.wmf]62.8
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.

b.  (0.15, found by 
[image: image4.wmf]3(30.831.0)
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	Salary
	
	

	36
	1.313131
	2.264250504

	26
	(1.21212
	(1.780894343

	33
	0.555556
	0.171467764

	28
	-0.70707
	-0.353499282

	31
	0.050505
	0.000128826

	
	
	0.301453469


0.125 found by 
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 (LO 5)
12.
a.
The mean is 542, found by 8130/15. The median is 546 and the standard deviation is 25.08, found as 
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b.
–0.478, found by 
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c.
 –0.375, found by 
[image: image8.wmf](

)

15

4.55

(14)13

æö

-

ç÷

èø

 (LO 5)
13.
a.
The mean is 21.93, found by 328.9 / 15. The median is 15.8 and the standard deviation is 21.18, found as 
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b.
0.868, found by 
[image: image10.wmf]3(21.9315.8)
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c.
2.444, found by 
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 (LO 5)
14.
a.
The mean is 8253; median 5500; and standard deviation 9267. (LO 5)

b. 
Pearson’s skewness coefficient is 0.891, found by 3(8253–5500)/9267.


c. 
Software skewness coefficient is 1.149, found by (25/24*23)25.38.

Salary
 
[image: image12.wmf]xx

s

-



[image: image13.wmf]3

xx

s

éù

-

êú

ëû


 435.6 -0.84359 -0.6003

 16500.0 0.88988 0.7047

 9000.0 0.08057 0.0005

 410.8 -0.84627 -0.6061

 488.0 -0.83794 -0.5884

 452.5 -0.84177 -0.5965

 5500.0 -0.29711 -0.0262

 447.0 -0.84236 -0.5977

 22600.0 1.54811 3.7103

 5500.0 -0.29711 -0.0262

 4000.0 -0.45897 -0.0967

 850.0 -0.79888 -0.5098

 1200.0 -0.76111 -0.4409

 412.1 -0.84613 -0.6058

 11750.0 0.37732 0.0537

 13100.0 0.52299 0.1430

 15000.0 0.72802 0.3859

 426.6 -0.84456 -0.6024

 33000.0 2.67035 19.0417

 24285.7 1.73001 5.1778

 6850.0 -0.15143 -0.0035

 20625.0 1.33500 2.3793

 900.0 -0.79348 -0.4996

 11500.0 0.35034 0.0430

 1100.0 -0.77190 -0.4599

15.
Larger values of x seem to be associated with larger values of y. (LO 6)
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16.
a.
15


b.
More labor hours are required as the number of rooms increases. (LO 6)
17.
a.
Both variables are nominal.


b.
Contingency table


c.
Yes, because 32% is more than twice 15%. (LO 7)
18.
a.
Opinion is ordinal and number of shares is ratio.


b.
Contingency table


c.
Those who own over 1000 shares. (LO 7)
19.
a.
Dot plot


b.
15


c.
5 (LO 1)
20.
Georgetown serves between 8 and 34 patients per day with a typical number being 23. Monks Corners serves between 8 and 36 patients per day with a typical number being 22. Aynor is busier than the other two and serves between 11 and 52 patients per day with a typical number being 30. (LO 1)
21.
a.
84.65, found by (83.7 + 85.6)/2; 68.175, found by 66.6 + (72.9 – 66.6)/4; and 89.425, found by 87.1 + (90.2 –87.1) 3/4.

b.
69.498, found by 66.6 + .46(72.9 – 66.6) and 95.579, found by 93.3 + .43(98.6 – 93.3).


c.
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 (LO 4)
22.
a.
133, the 13th ordered value; 89, found by 81 + (97 – 81)/2; and 168, found by 


162 + (174 – 162)/2.
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b.
283.5, found by 283 + (284 – 283)/2; 189.75, found by 183 + (192 – 183) 3/4; and 492.5, 

found by 490 + (500 – 490)/4.
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c. 
The typical young adult has more than twice the number of CD’s as the typical senior 


citizen. (LO 4)
23. 
a.
31.5, found by 31 + (32- 31)/2; 26.25, found by 25 + (30 – 25)/4; and 35.75, found by 


35 + (36 – 35) 3/4.
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b.
37.5, found by 37 + (38- 37)/2; 33.25, found by 33 + (34 – 33)/4; and 38.75, found by 


38 + (39 – 38) 3/4.
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c. 
Private transportation averages 5 or 6 minutes longer. (LO 4)
24.
The distribution is positively skewed. With the first quartile equal to 10 and the third quartile is equal to 40. There are four outliers located at 85, 86, 95 and 99. The median is about 25. (LO 4)
25.
The distribution is positively skewed. The first quartile is approximately $20 and the third quartile is approximately $90. There is one outlier located at $255. The median is about 50. (LO 4)
26.
a. The mean is 348.5; median 276; and standard deviation 277.4

b. The coefficient of skewness is 1.17, which indicates a mild positive skewness.

c. The first quartile is 108 and the third 528.

d.
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The limits for outliers are below –522, found by 108 –1.5(528 – 108) and above 1158, found by 528 + 1.5(528 – 108). There is one outlier, California, with a value of 1165. (LO 4)
27.
a.
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Median is 3733. First quartile is 1478. Third quartile is 6141. So prices over 13,135.5, found by 6141 + 1.5(6141–1478), are outliers. There are three (13925; 20,413 and 44,312).
b.
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Median is 0.84. First quartile is 0.515. Third quartile is 1.12. So sizes over 2.0275, found by 1.12 + 1.5(1.12–0.515), are outliers. There are three (2.03, 2.35, and 5.03).

c.
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There is a direct association between them. The first observation is larger on both scales.


d.

	Shape\Cut
	Average
	Good
	Ideal
	Premium
	Ultra Ideal
	Total

	Emerald
	0
	0
	1
	0
	0
	1

	Marquise
	0
	2
	0
	1
	0
	3

	Oval
	0
	0
	0
	1
	0
	1

	Princess
	1
	0
	2
	2
	0
	5

	Round
	1
	3
	3
	13
	3
	23

	Total
	2
	5
	6
	17
	3
	33


The majority of the diamonds are round (23). Premium cut is most common (17).
The Round Premium combination occurs most often (13). (LO 4), (LO 6), (LO 7)
28.
Pearson’s coefficient is 0.4096, found by 3(1322 – 1281.45)/ 297. Software coefficient is 0.3656, 
found by 8(1.9192)/(8 – 1)(8 – 2). (LO 5)
29.
Pearson’s coefficient is –0.2198, found by 3(7.7143 – 8)/ 3.9. Software coefficient is 0.0648, 
found by 7(0.2779)/(7 – 1)(7 – 2). (LO 5)
30.
Old machines cost more to maintain. (LO 6)
31.
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The number of accidents appears to decline as the driver ages. The slope is about one fewer 
accident for each additional four years of driving experience. (LO 6)
32.
Older customers tend to order very few condiments and young customers tend to order the largest 
number. (LO 7)
33.
a.
139,340,000, found by adding the four cells.


b.
5.4 % were unemployed, found by 7523/139340


c. 
5.6% of the men and 5.1% of the women (LO 7)
34.
a.
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The first quartile is about 190 and the third is near 250. There are no outliers.
b. 
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There is a slight direct relationship between size and price.


c.
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There is an inverse relationship between distance from the city center and price. 
(LO 4), (LO 6)
35.
a.
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There are two groups of outliers: three near 50 (two Los Angeles stadiums and one in 

Oakland) and two near 100 (Red Sox and Cubs).

b.
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The first quartile is $61,370,000 and the third is $105,830,000. The distribution is 

positively skewed and the Yankees are a definite outlier.

c. 
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Higher payrolls usually lead to extra wins.


d.
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The distribution is fairly uniform between 57 and 97.

36.
a.
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The first quartile is 416 and the third quartile is 491. There are no outliers. No value is below 303, found by 416 – 1.5(491 – 416), or above 604, found by 491 + 1.5(491 – 416).


b. 
The median maintenance cost is $456.

	
	Above Median
	Below Median
	Total

	Bluebird
	21
	26
	47

	Keiser
	11
	14
	25

	Thompson
	8
	0
	8

	Totals
	40
	40
	80


Maintenance costs are significantly higher for buses made by Thompson. (LO 4), (LO 7)
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��������Plot Price * Size���������������������������������������������������������������������������������������������������������������������������@9������¶8��Plot Price * Size���������������������������������������������������������������������������������������������������������������;; HMF V1.24 TEXT
;; (Microsoft Win32 Intel 386)  HOOPS 4.50-11 I.M. 3.00-11
(Selectability "windows=off,geometry=on")
(Visibility "on")
(Color_By_Index "Geometry,Face Contrast" 1)
(Color_By_Index "Window" 0)
(Window_Frame "off")
(Window -1 1 -1 1)
(Camera (0 0 -5) (0 0 0) (0 1 0) 2 2 "Stretched")

;; (Driver_Options "disable input,light scaling=0,subscreen=(-0.999875,0.795127
;; ,-0.999833,0.580169),subscreen stretching,no update interrupts,use window id
;; =3876")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
(Text_Font "name=arial-gdi-vector,no transforms,rotation=follow path")
(User_Options "mtb aspect ratio=0.660413,graphicsversion=6,worksheettitle=\"DEN
VER2003.MTW\",optiplot=0,builtin=0,statguideid=0,toplayer=0,angle=0,arrowdir=0,
arrowstyle=0,polygon=0,isdata=0,textfollowpath=1,ldfill=0,solidfill=0,3d=0,useb
itmap=0,canbrush=0,brushrows=105,light scaling=0.00000,sessionline=43")
(Segment "include" ())
(Front ((Segment "figure1" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0) (-0.99995 -0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.59997 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.59997 0.59997 0) (-0.59997 -0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03346 sru")
		    (Segment "" (
		      (Text 0.579971 -0.669967 0 "3000")))
		    (Segment "" (
		      (Text 0.193324 -0.669967 0 "2500")))
		    (Segment "" (
		      (Text -0.193324 -0.669967 0 "2000")))
		    (Segment "" (
		      (Text -0.579971 -0.669967 0 "1500")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((0.579971 -0.59997 0) (0.579971 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((0.193324 -0.59997 0) (0.193324 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.193324 -0.59997 0) (-0.193324 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.579971 -0.59997 0) (-0.579971 
			     -0.639968 0)))))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03346 sru")
		    (Segment "" (
		      (Text -0.669967 0.570489 0 "350")))
		    (Segment "" (
		      (Text -0.669967 0.0737636 0 "250")))
		    (Segment "" (
		      (Text -0.669967 -0.422961 0 "150")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.570489 0) (-0.639968 
			     0.570489 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.0737636 0) (-0.639968 
			     0.0737636 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.422961 0) (-0.639968 
			     -0.422961 0)))))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.04183 sru")
		    (Segment "" (
		      (Text 0 -0.759228 0 "Size")))
		    (Segment "" (
		      (Front ((Polyline ((-0.579971 -0.59997 0) (0.579971 
			   -0.59997 0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.04183 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=5")
		      (Polygon ((-0.84287 -0.0997699 0) (-0.84287 0.0850439 0) 
			(-0.754549 0.0850439 0) (-0.754549 -0.0997699 0)))
		      (Renumber (Text -0.776629 -0.0997699 0 "Price") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Price") 1 "L")))))
		    (Segment "" (
		      (Front ((Polyline ((-0.59997 -0.579971 0) (-0.59997 
			   0.579971 0)))))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.58 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (User_Value 105)
		    (Marker 0.0666633 -0.401234 0)))
		  (Segment "" (
		    (User_Value 104)
		    (Marker -0.19999 -0.527128 0)))
		  (Segment "" (
		    (User_Value 103)
		    (Marker 0.866623 -0.068942 0)))
		  (Segment "" (
		    (User_Value 102)
		    (Marker -0.19999 -0.401234 0)))
		  (Segment "" (
		    (User_Value 101)
		    (Marker 0.19999 -0.480881 0)))
		  (Segment "" (
		    (User_Value 100)
		    (Marker 0.19999 0.501435 0)))
		  (Segment "" (
		    (User_Value 99)
		    (Marker 0.866623 0.647883 0)))
		  (Segment "" (
		    (User_Value 98)
		    (Marker 0.0666633 -0.401234 0)))
		  (Segment "" (
		    (User_Value 97)
		    (Marker -0.19999 -0.527128 0)))
		  (Segment "" (
		    (User_Value 96)
		    (Marker 0.866623 -0.068942 0)))
		  (Segment "" (
		    (User_Value 95)
		    (Marker -0.19999 -0.401234 0)))
		  (Segment "" (
		    (User_Value 94)
		    (Marker 0.19999 -0.480881 0)))
		  (Segment "" (
		    (User_Value 93)
		    (Marker 0.333317 -0.414937 0)))
		  (Segment "" (
		    (User_Value 92)
		    (Marker 0.19999 -0.682997 0)))
		  (Segment "" (
		    (User_Value 91)
		    (Marker 0.0666633 0.154584 0)))
		  (Segment "" (
		    (User_Value 90)
		    (Marker 0.333317 -0.515138 0)))
		  (Segment "" (
		    (User_Value 89)
		    (Marker 0.0666633 -0.116902 0)))
		  (Segment "" (
		    (User_Value 88)
		    (Marker 0.59997 0.0732241 0)))
		  (Segment "" (
		    (User_Value 87)
		    (Marker -0.466643 -0.402947 0)))
		  (Segment "" (
		    (User_Value 86)
		    (Marker 0.0666633 0.240226 0)))
		  (Segment "" (
		    (User_Value 85)
		    (Marker 0.466643 0.0415365 0)))
		  (Segment "" (
		    (User_Value 84)
		    (Marker 0.333317 -0.309597 0)))
		  (Segment "" (
		    (User_Value 83)
		    (Marker 0.0666633 0.0809319 0)))
		  (Segment "" (
		    (User_Value 82)
		    (Marker 0.59997 0.508287 0)))
		  (Segment "" (
		    (User_Value 81)
		    (Marker 0.0666633 -0.12204 0)))
		  (Segment "" (
		    (User_Value 80)
		    (Marker 0.19999 -0.935641 0)))
		  (Segment "" (
		    (User_Value 79)
		    (Marker 0.19999 -0.367833 0)))
		  (Segment "" (
		    (User_Value 78)
		    (Marker 0.333317 -0.148589 0)))
		  (Segment "" (
		    (User_Value 77)
		    (Marker 0.0666633 -0.608488 0)))
		  (Segment "" (
		    (User_Value 76)
		    (Marker 0.466643 0.014131 0)))
		  (Segment "" (
		    (User_Value 75)
		    (Marker -0.466643 -0.943349 0)))
		  (Segment "" (
		    (User_Value 74)
		    (Marker -0.466643 -0.0954911 0)))
		  (Segment "" (
		    (User_Value 73)
		    (Marker 0.19999 0.506574 0)))
		  (Segment "" (
		    (User_Value 72)
		    (Marker -0.333317 -0.504004 0)))
		  (Segment "" (
		    (User_Value 71)
		    (Marker -0.19999 0.504004 0)))
		  (Segment "" (
		    (User_Value 70)
		    (Marker -0.0666633 -0.217959 0)))
		  (Segment "" (
		    (User_Value 69)
		    (Marker -0.19999 -0.236801 0)))
		  (Segment "" (
		    (User_Value 68)
		    (Marker 0.333317 0.164005 0)))
		  (Segment "" (
		    (User_Value 67)
		    (Marker -0.0666633 -0.378967 0)))
		  (Segment "" (
		    (User_Value 66)
		    (Marker -0.0666633 -0.217959 0)))
		  (Segment "" (
		    (User_Value 65)
		    (Marker -0.19999 -0.111763 0)))
		  (Segment "" (
		    (User_Value 64)
		    (Marker -0.333317 -0.692417 0)))
		  (Segment "" (
		    (User_Value 63)
		    (Marker -0.0666633 0.297607 0)))
		  (Segment "" (
		    (User_Value 62)
		    (Marker -0.333317 0.468035 0)))
		  (Segment "" (
		    (User_Value 61)
		    (Marker 0.19999 0.659017 0)))
		  (Segment "" (
		    (User_Value 60)
		    (Marker -0.0666633 -0.391813 0)))
		  (Segment "" (
		    (User_Value 59)
		    (Marker -0.866623 -0.587934 0)))
		  (Segment "" (
		    (User_Value 58)
		    (Marker 0.0666633 -0.0578085 0)))
		  (Segment "" (
		    (User_Value 57)
		    (Marker -0.0666633 -0.506574 0)))
		  (Segment "" (
		    (User_Value 56)
		    (Marker -0.733297 -0.75151 0)))
		  (Segment "" (
		    (User_Value 55)
		    (Marker 0.0666633 0.0929218 0)))
		  (Segment "" (
		    (User_Value 54)
		    (Marker -0.466643 0.139169 0)))
		  (Segment "" (
		    (User_Value 53)
		    (Marker -0.0666633 -0.537405 0)))
		  (Segment "" (
		    (User_Value 52)
		    (Marker -0.0666633 0.0107053 0)))
		  (Segment "" (
		    (User_Value 51)
		    (Marker -0.0666633 -0.364408 0)))
		  (Segment "" (
		    (User_Value 50)
		    (Marker -0.0666633 -0.157153 0)))
		  (Segment "" (
		    (User_Value 49)
		    (Marker -0.333317 -0.544256 0)))
		  (Segment "" (
		    (User_Value 48)
		    (Marker -0.0666633 -0.0886397 0)))
		  (Segment "" (
		    (User_Value 47)
		    (Marker -0.0666633 0.291612 0)))
		  (Segment "" (
		    (User_Value 46)
		    (Marker 0.19999 0.622191 0)))
		  (Segment "" (
		    (User_Value 45)
		    (Marker 0.0666633 -0.509999 0)))
		  (Segment "" (
		    (User_Value 44)
		    (Marker -0.333317 -0.257355 0)))
		  (Segment "" (
		    (User_Value 43)
		    (Marker -0.19999 -0.315592 0)))
		  (Segment "" (
		    (User_Value 42)
		    (Marker -0.466643 -0.0252645 0)))
		  (Segment "" (
		    (User_Value 41)
		    (Marker -0.19999 -0.249647 0)))
		  (Segment "" (
		    (User_Value 40)
		    (Marker -0.0666633 0.325869 0)))
		  (Segment "" (
		    (User_Value 39)
		    (Marker -0.19999 -0.302745 0)))
		  (Segment "" (
		    (User_Value 38)
		    (Marker 0.466643 0.659017 0)))
		  (Segment "" (
		    (User_Value 37)
		    (Marker 0.0666633 -0.164005 0)))
		  (Segment "" (
		    (User_Value 36)
		    (Marker -0.333317 -0.449193 0)))
		  (Segment "" (
		    (User_Value 35)
		    (Marker -0.466643 -0.497153 0)))
		  (Segment "" (
		    (User_Value 34)
		    (Marker -0.333317 -0.590503 0)))
		  (Segment "" (
		    (User_Value 33)
		    (Marker 0.19999 0.107481 0)))
		  (Segment "" (
		    (User_Value 32)
		    (Marker -0.333317 -0.240226 0)))
		  (Segment "" (
		    (User_Value 31)
		    (Marker -0.733297 -9.84885e-3 0)))
		  (Segment "" (
		    (User_Value 30)
		    (Marker -0.333317 -0.468891 0)))
		  (Segment "" (
		    (User_Value 29)
		    (Marker -0.0666633 -0.0184131 0)))
		  (Segment "" (
		    (User_Value 28)
		    (Marker -0.19999 0.188841 0)))
		  (Segment "" (
		    (User_Value 27)
		    (Marker -0.466643 -0.412367 0)))
		  (Segment "" (
		    (User_Value 26)
		    (Marker -0.0666633 -0.53141 0)))
		  (Segment "" (
		    (User_Value 25)
		    (Marker -0.19999 0.780629 0)))
		  (Segment "" (
		    (User_Value 24)
		    (Marker 0.466643 0.943349 0)))
		  (Segment "" (
		    (User_Value 23)
		    (Marker -0.19999 -0.221385 0)))
		  (Segment "" (
		    (User_Value 22)
		    (Marker -0.466643 -0.361838 0)))
		  (Segment "" (
		    (User_Value 21)
		    (Marker 0.466643 0.146876 0)))
		  (Segment "" (
		    (User_Value 20)
		    (Marker -0.466643 -0.221385 0)))
		  (Segment "" (
		    (User_Value 19)
		    (Marker -0.0666633 -0.310453 0)))
		  (Segment "" (
		    (User_Value 18)
		    (Marker 0.0666633 -0.236801 0)))
		  (Segment "" (
		    (User_Value 17)
		    (Marker -0.0666633 -0.534836 0)))
		  (Segment "" (
		    (User_Value 16)
		    (Marker -0.19999 0.395239 0)))
		  (Segment "" (
		    (User_Value 15)
		    (Marker 0.0666633 -0.348992 0)))
		  (Segment "" (
		    (User_Value 14)
		    (Marker -0.19999 0.0937782 0)))
		  (Segment "" (
		    (User_Value 13)
		    (Marker 0.333317 0.305315 0)))
		  (Segment "" (
		    (User_Value 12)
		    (Marker -0.733297 -0.223954 0)))
		  (Segment "" (
		    (User_Value 11)
		    (Marker -0.19999 0.490302 0)))
		  (Segment "" (
		    (User_Value 10)
		    (Marker 0.19999 0.269345 0)))
		  (Segment "" (
		    (User_Value 9)
		    (Marker 0.0666633 -0.120327 0)))
		  (Segment "" (
		    (User_Value 8)
		    (Marker -0.19999 0.313879 0)))
		  (Segment "" (
		    (User_Value 7)
		    (Marker 0.333317 0.788337 0)))
		  (Segment "" (
		    (User_Value 6)
		    (Marker -0.19999 0.0877833 0)))
		  (Segment "" (
		    (User_Value 5)
		    (Marker -0.19999 -0.815742 0)))
		  (Segment "" (
		    (User_Value 4)
		    (Marker -0.0666633 -0.184559 0)))
		  (Segment "" (
		    (User_Value 3)
		    (Marker 0.0666633 0.0595213 0)))
		  (Segment "" (
		    (User_Value 2)
		    (Marker -0.19999 -0.451763 0)))
		  (Segment "" (
		    (User_Value 1)
		    (Marker 0.0666633 0.23937 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")))))
��
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;; (Microsoft Win32 Intel 386)  HOOPS 4.50-11 I.M. 3.00-11
(Selectability "windows=off,geometry=on")
(Visibility "on")
(Color_By_Index "Geometry,Face Contrast" 1)
(Color_By_Index "Window" 0)
(Window_Frame "off")
(Window -1 1 -1 1)
(Camera (0 0 -5) (0 0 0) (0 1 0) 2 2 "Stretched")

;; (Driver_Options "disable input,light scaling=0,subscreen=(-0.999875,0.795127
;; ,-0.999833,0.580169),subscreen stretching,no update interrupts,use window id
;; =164")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
(Text_Font "name=arial-gdi-vector,no transforms,rotation=follow path")
(User_Options "mtb aspect ratio=0.660413,graphicsversion=6,worksheettitle=\"DEN
VER2003.MTW\",optiplot=0,builtin=0,statguideid=0,toplayer=0,angle=0,arrowdir=0,
arrowstyle=0,polygon=0,isdata=0,textfollowpath=1,ldfill=0,solidfill=0,3d=0,useb
itmap=0,canbrush=0,brushrows=105,light scaling=0.00000,sessionline=67")
(Segment "include" ())
(Front ((Segment "figure1" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0) (-0.99995 -0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.59997 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.59997 0.59997 0) (-0.59997 -0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03346 sru")
		    (Segment "" (
		      (Text 0.579971 -0.669967 0 "30")))
		    (Segment "" (
		      (Text 0.109597 -0.669967 0 "20")))
		    (Segment "" (
		      (Text -0.360777 -0.669967 0 "10")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((0.579971 -0.59997 0) (0.579971 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((0.109597 -0.59997 0) (0.109597 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.360777 -0.59997 0) (-0.360777 
			     -0.639968 0)))))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03346 sru")
		    (Segment "" (
		      (Text -0.669967 0.570489 0 "350")))
		    (Segment "" (
		      (Text -0.669967 0.0737636 0 "250")))
		    (Segment "" (
		      (Text -0.669967 -0.422961 0 "150")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.570489 0) (-0.639968 
			     0.570489 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.0737636 0) (-0.639968 
			     0.0737636 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.422961 0) (-0.639968 
			     -0.422961 0)))))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.04183 sru")
		    (Segment "" (
		      (Text 0 -0.759228 0 "Distance")))
		    (Segment "" (
		      (Front ((Polyline ((-0.579971 -0.59997 0) (0.579971 
			   -0.59997 0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.04183 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=5")
		      (Polygon ((-0.84287 -0.0997699 0) (-0.84287 0.0850439 0) 
			(-0.754549 0.0850439 0) (-0.754549 -0.0997699 0)))
		      (Renumber (Text -0.776629 -0.0997699 0 "Price") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Price") 1 "L")))))
		    (Segment "" (
		      (Front ((Polyline ((-0.59997 -0.579971 0) (-0.59997 
			   0.579971 0)))))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.58 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (User_Value 105)
		    (Marker -0.54093 -0.401234 0)))
		  (Segment "" (
		    (User_Value 104)
		    (Marker -0.703128 -0.527128 0)))
		  (Segment "" (
		    (User_Value 103)
		    (Marker 0.188961 -0.068942 0)))
		  (Segment "" (
		    (User_Value 102)
		    (Marker -0.297633 -0.401234 0)))
		  (Segment "" (
		    (User_Value 101)
		    (Marker -0.784227 -0.480881 0)))
		  (Segment "" (
		    (User_Value 100)
		    (Marker -0.54093 0.501435 0)))
		  (Segment "" (
		    (User_Value 99)
		    (Marker -0.703128 0.647883 0)))
		  (Segment "" (
		    (User_Value 98)
		    (Marker 0.188961 -0.401234 0)))
		  (Segment "" (
		    (User_Value 97)
		    (Marker -0.297633 -0.527128 0)))
		  (Segment "" (
		    (User_Value 96)
		    (Marker -0.784227 -0.068942 0)))
		  (Segment "" (
		    (User_Value 95)
		    (Marker -0.216534 -0.401234 0)))
		  (Segment "" (
		    (User_Value 94)
		    (Marker -0.622029 -0.480881 0)))
		  (Segment "" (
		    (User_Value 93)
		    (Marker 0.270059 -0.414937 0)))
		  (Segment "" (
		    (User_Value 92)
		    (Marker -0.135435 -0.682997 0)))
		  (Segment "" (
		    (User_Value 91)
		    (Marker -0.135435 0.154584 0)))
		  (Segment "" (
		    (User_Value 90)
		    (Marker -0.54093 -0.515138 0)))
		  (Segment "" (
		    (User_Value 89)
		    (Marker 0.0267627 -0.116902 0)))
		  (Segment "" (
		    (User_Value 88)
		    (Marker -0.865326 0.0732241 0)))
		  (Segment "" (
		    (User_Value 87)
		    (Marker -0.784227 -0.402947 0)))
		  (Segment "" (
		    (User_Value 86)
		    (Marker -0.297633 0.240226 0)))
		  (Segment "" (
		    (User_Value 85)
		    (Marker -0.378732 0.0415365 0)))
		  (Segment "" (
		    (User_Value 84)
		    (Marker 0.0267627 -0.309597 0)))
		  (Segment "" (
		    (User_Value 83)
		    (Marker -0.703128 0.0809319 0)))
		  (Segment "" (
		    (User_Value 82)
		    (Marker -0.216534 0.508287 0)))
		  (Segment "" (
		    (User_Value 81)
		    (Marker -0.459831 -0.12204 0)))
		  (Segment "" (
		    (User_Value 80)
		    (Marker 0.837752 -0.935641 0)))
		  (Segment "" (
		    (User_Value 79)
		    (Marker -0.135435 -0.367833 0)))
		  (Segment "" (
		    (User_Value 78)
		    (Marker -0.459831 -0.148589 0)))
		  (Segment "" (
		    (User_Value 77)
		    (Marker 0.107862 -0.608488 0)))
		  (Segment "" (
		    (User_Value 76)
		    (Marker -0.0543363 0.014131 0)))
		  (Segment "" (
		    (User_Value 75)
		    (Marker 0.0267627 -0.943349 0)))
		  (Segment "" (
		    (User_Value 74)
		    (Marker -0.946425 -0.0954911 0)))
		  (Segment "" (
		    (User_Value 73)
		    (Marker -0.784227 0.506574 0)))
		  (Segment "" (
		    (User_Value 72)
		    (Marker -0.0543363 -0.504004 0)))
		  (Segment "" (
		    (User_Value 71)
		    (Marker -0.378732 0.504004 0)))
		  (Segment "" (
		    (User_Value 70)
		    (Marker 0.107862 -0.217959 0)))
		  (Segment "" (
		    (User_Value 69)
		    (Marker -0.622029 -0.236801 0)))
		  (Segment "" (
		    (User_Value 68)
		    (Marker -0.216534 0.164005 0)))
		  (Segment "" (
		    (User_Value 67)
		    (Marker 0.0267627 -0.378967 0)))
		  (Segment "" (
		    (User_Value 66)
		    (Marker -0.378732 -0.217959 0)))
		  (Segment "" (
		    (User_Value 65)
		    (Marker -0.703128 -0.111763 0)))
		  (Segment "" (
		    (User_Value 64)
		    (Marker -0.378732 -0.692417 0)))
		  (Segment "" (
		    (User_Value 63)
		    (Marker -0.54093 0.297607 0)))
		  (Segment "" (
		    (User_Value 62)
		    (Marker 0.270059 0.468035 0)))
		  (Segment "" (
		    (User_Value 61)
		    (Marker -0.378732 0.659017 0)))
		  (Segment "" (
		    (User_Value 60)
		    (Marker 0.513356 -0.391813 0)))
		  (Segment "" (
		    (User_Value 59)
		    (Marker 0.107862 -0.587934 0)))
		  (Segment "" (
		    (User_Value 58)
		    (Marker -0.0543363 -0.0578085 0)))
		  (Segment "" (
		    (User_Value 57)
		    (Marker -0.216534 -0.506574 0)))
		  (Segment "" (
		    (User_Value 56)
		    (Marker -0.459831 -0.75151 0)))
		  (Segment "" (
		    (User_Value 55)
		    (Marker -0.865326 0.0929218 0)))
		  (Segment "" (
		    (User_Value 54)
		    (Marker -0.459831 0.139169 0)))
		  (Segment "" (
		    (User_Value 53)
		    (Marker 0.432257 -0.537405 0)))
		  (Segment "" (
		    (User_Value 52)
		    (Marker 0.188961 0.0107053 0)))
		  (Segment "" (
		    (User_Value 51)
		    (Marker -0.297633 -0.364408 0)))
		  (Segment "" (
		    (User_Value 50)
		    (Marker -0.216534 -0.157153 0)))
		  (Segment "" (
		    (User_Value 49)
		    (Marker -0.135435 -0.544256 0)))
		  (Segment "" (
		    (User_Value 48)
		    (Marker -0.0543363 -0.0886397 0)))
		  (Segment "" (
		    (User_Value 47)
		    (Marker -0.784227 0.291612 0)))
		  (Segment "" (
		    (User_Value 46)
		    (Marker 0.270059 0.622191 0)))
		  (Segment "" (
		    (User_Value 45)
		    (Marker 0.513356 -0.509999 0)))
		  (Segment "" (
		    (User_Value 44)
		    (Marker 0.188961 -0.257355 0)))
		  (Segment "" (
		    (User_Value 43)
		    (Marker 0.107862 -0.315592 0)))
		  (Segment "" (
		    (User_Value 42)
		    (Marker -0.135435 -0.0252645 0)))
		  (Segment "" (
		    (User_Value 41)
		    (Marker -0.703128 -0.249647 0)))
		  (Segment "" (
		    (User_Value 40)
		    (Marker -0.135435 0.325869 0)))
		  (Segment "" (
		    (User_Value 39)
		    (Marker 0.107862 -0.302745 0)))
		  (Segment "" (
		    (User_Value 38)
		    (Marker -0.865326 0.659017 0)))
		  (Segment "" (
		    (User_Value 37)
		    (Marker 0.107862 -0.164005 0)))
		  (Segment "" (
		    (User_Value 36)
		    (Marker -0.297633 -0.449193 0)))
		  (Segment "" (
		    (User_Value 35)
		    (Marker -0.622029 -0.497153 0)))
		  (Segment "" (
		    (User_Value 34)
		    (Marker -0.135435 -0.590503 0)))
		  (Segment "" (
		    (User_Value 33)
		    (Marker -0.135435 0.107481 0)))
		  (Segment "" (
		    (User_Value 32)
		    (Marker -0.54093 -0.240226 0)))
		  (Segment "" (
		    (User_Value 31)
		    (Marker 0.107862 -9.84885e-3 0)))
		  (Segment "" (
		    (User_Value 30)
		    (Marker -0.54093 -0.468891 0)))
		  (Segment "" (
		    (User_Value 29)
		    (Marker -0.297633 -0.0184131 0)))
		  (Segment "" (
		    (User_Value 28)
		    (Marker -0.703128 0.188841 0)))
		  (Segment "" (
		    (User_Value 27)
		    (Marker 0.675554 -0.412367 0)))
		  (Segment "" (
		    (User_Value 26)
		    (Marker 0.270059 -0.53141 0)))
		  (Segment "" (
		    (User_Value 25)
		    (Marker -0.54093 0.780629 0)))
		  (Segment "" (
		    (User_Value 24)
		    (Marker -0.703128 0.943349 0)))
		  (Segment "" (
		    (User_Value 23)
		    (Marker 0.188961 -0.221385 0)))
		  (Segment "" (
		    (User_Value 22)
		    (Marker -0.297633 -0.361838 0)))
		  (Segment "" (
		    (User_Value 21)
		    (Marker -0.784227 0.146876 0)))
		  (Segment "" (
		    (User_Value 20)
		    (Marker -0.216534 -0.221385 0)))
		  (Segment "" (
		    (User_Value 19)
		    (Marker -0.622029 -0.310453 0)))
		  (Segment "" (
		    (User_Value 18)
		    (Marker 0.270059 -0.236801 0)))
		  (Segment "" (
		    (User_Value 17)
		    (Marker -0.135435 -0.534836 0)))
		  (Segment "" (
		    (User_Value 16)
		    (Marker -0.135435 0.395239 0)))
		  (Segment "" (
		    (User_Value 15)
		    (Marker -0.54093 -0.348992 0)))
		  (Segment "" (
		    (User_Value 14)
		    (Marker 0.0267627 0.0937782 0)))
		  (Segment "" (
		    (User_Value 13)
		    (Marker -0.865326 0.305315 0)))
		  (Segment "" (
		    (User_Value 12)
		    (Marker -0.784227 -0.223954 0)))
		  (Segment "" (
		    (User_Value 11)
		    (Marker -0.297633 0.490302 0)))
		  (Segment "" (
		    (User_Value 10)
		    (Marker -0.378732 0.269345 0)))
		  (Segment "" (
		    (User_Value 9)
		    (Marker 0.0267627 -0.120327 0)))
		  (Segment "" (
		    (User_Value 8)
		    (Marker -0.703128 0.313879 0)))
		  (Segment "" (
		    (User_Value 7)
		    (Marker -0.216534 0.788337 0)))
		  (Segment "" (
		    (User_Value 6)
		    (Marker -0.459831 0.0877833 0)))
		  (Segment "" (
		    (User_Value 5)
		    (Marker 0.837752 -0.815742 0)))
		  (Segment "" (
		    (User_Value 4)
		    (Marker -0.135435 -0.184559 0)))
		  (Segment "" (
		    (User_Value 3)
		    (Marker -0.459831 0.0595213 0)))
		  (Segment "" (
		    (User_Value 2)
		    (Marker 0.107862 -0.451763 0)))
		  (Segment "" (
		    (User_Value 1)
		    (Marker -0.0543363 0.23937 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")))))
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